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COUNTING-SORT(A, B, k)
I letC[O..k]be anew array

2 fori =0tok

3 Cli] =0

4 for j = 1to A.length

5 ClA[jl] = ClA[j]] + 1

6 // C]li] now contains the number of elements equal to 7.

7 fori = 1tok

8 Cli|=Cli|+C[i —1]

9 // Cli] now contains the number of elements less than or equal to 7.

10 for j = A.length downto |
L BIC[A[j]l] = Alj]
12 ClA[jl] = ClAlj]1 =1



ANALIGL Dl COMPLESSITA

COUNTING-SORT(A, B, k)

|

let C[0.. k]| be a new array

2 fori =0tok

3 Cli] =0 @(h)

4 for j = 1to A.length m

5 ClA[j]] = ClA[j]] + 1 B(m)

6 // Cli]| now contains the number of elements equal to i.

7 fori = 1tok

8 Cli]| = Cli]|+Cl[i —1] @(k)

9 // CJi] now contains the number of elements less than or equal to i.

10 for j = A.length downto 1

1t BIC[A[]] = ALj] O(»)

12 ClAlj]l = ClAlj]] -1

ToTaLe @ [m +k>

s k=OMm , xorRA () (m+L> = O
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8.2-1

llustrate the operation of COUNTING-SORT on the
array A = (6,0,2,0,1,3.4,6,1,3.2).

8.2-3

Suppose that we were to rewrite the for loop header in line 10 of the COUNTING-
SORT as

10 for j = 1 to A.length

Show that the algorithm still works properly. Is the modified algorithm stable?

8.2-4

Describe an algorithm that, given n integers in the range O to k, preprocesses its
input and then answers any query about how many of the n integers fall into a

range [a ..bh] in O(1) time. Your algorithm should use ®(n + k) preprocessing
time.
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DUE APepocct AW oRpIVATISNTO RISPETTO A PIO CHIAV

sy ORDINANISJTO pmLE CHIAVI
MENS  SIGN\PIATIVE

329
457
657
839
436
720
355

PROBLETT A -
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?Eﬂ 3[2]4
36s 2P

45 3 &)3

456 4slr
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s ORDINATIOVTO DpaLLE CH(AV] MBND sSicNnPAT! VE

k QUEBLLE PV SIGMN PIATIVE
(oM ALGORITMO D) ORDINAMENTO S'l‘PrBIL»E)—’—i? RADIX - SORT

329 720 720 329
457 355 329 355
657 436 436 436
839 die- 457 - 839 wwniiin- 457
436 657 355 657
720 329 457 720
355 839 057 839

RADIX-SORT(A, d)

| fori =1tod
2 use a stable sort to sort array A on digit
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8.3-1

[llustrate the operation of RADIX-SORT on the following

list of English words: COW, DOG, SEA, RUG,ROW, MOB, BOX, TAB,
BAR, EAR, TAR, DIG, BIG, TEA, NOW, FOX.

8.3-4

Show how to sort 1 integers in the range 0 to n° — 1 in O(n) time.
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BUCKET-SORT(A)

b I —

oo~ N =

n = A.length
let B[O..n — 1] be a new array
fori =0ton —1

make B/

for; = 1to
insert A

n

,[

an empty list

into list B[|nA[i]]]

fori =0ton — 1
sort list B[i] with insertion sort

concatenate the lists B[0], B[1]

qqqqq

B[n — 1] together in order
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BUCKET-SORT(A)

1 n = A.length

2 let B[0O..n — I] be a new array

3 fori =0ton—1 @[M)
4 make B[i] an empty list

5 fori = 1ton

6 insert A[i] into list B[|nA[i]|]

7 fori =0ton—1

8 sort list B[i| with insertion sort @(ML>
9 concatenate the lists B[0], B[1].....B[n — 1] together in order @ (M)

B ()
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BUCKET-SORT(A)

1 n = A.length

2 let B[0O..n — I] be a new array

3 fori =0ton—1 @[M)
4 make B[i] an empty list

5 fori = 1ton

6 insert A[i] into list B[|nA[i]|]

7 fori =0ton—1

8 sort list B[i| with insertion sort O(m )
9 concatenate the lists B[0], B[1].....B[n — 1] together in order @ (M)

) ()
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BUCKET-SORT(A)

n = A.length

let B[O..n — 1] be a new array

fori =0ton — 1 @(M)
make B[i] an empty list

fori = 1ton
insert A[i] into list B[|nA[i]]]

fori =0ton —1
sort list B[i]| with insertion sort 4 O( ?>

concatenate the lists B[0]. B[1]..... B[n — 1] together in order o— O(M)

O OO0 |y B W —

- OCCORRE CALCcOLARE L TEPo TOTALE RICHIESTO
bALE = CHIAMIATE bl IVSseriod SORT (LInBA &)
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8.4-1
[llustrate the operation of BUCKET-SORT on the array
A= (.79, .13, .16, .64, .39, .20, .89, .53, .71, .42).



